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appendage ¢ external
stimulus
! i
Any struciure, such asa leg or an antenna, that
grows out of an animals body
hehavioral
adaptation %
- " ‘
o N | O extinction
" !’, -
aninherited benavior that helpsan organism
SUEvive
- dichotomous S i - o
-"J Fﬂ ! A
key : o :
Bt WY B B Bird 2
T D Ky to Weptes e Bis
bt Cartista © genes
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L Teebonam wirmasl B el astbagh & f .
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' 5 geotropism
axey for theidentficaton of orgamisims based on & o
seres of chaices belween aiternatve characters
domestic i
animals
- f'“
Those species that nave been broughtunder
aman control and that have adapted tolife with
Fumanrs
evolution

geer

Achangein aspecesover ume

RRISD--Natural Selection and Adaptation--7th Grade |

Anything cutside the body of the organism that
Can Lause a response in an organism
ey

=

when a species that no longer has any known
lving individuals.

A segrnent of DNA on a chromosome that codes
for a speafictrat

response wearth's gravity, os the growmg of
roots downward inthe ground
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it homeostasis T © mutation
R !

B ’;’\;
i - 5 -y

Atendency to maintain a balanced or constan

Ara S T

nternalstate; the regulation of any aspect of b

‘ 12N a gene or chromosome,
chemstry, such as blood glucose, arcund a A changein a gene or QS0ME

particular level - natural
- " - lecti - o
' hydrotropism seipction b
e }“,‘uu e e :-'u' -
iy o

Changes in genetic traits over many
generations based on erganism's ability to
survive and reproduce.

phloem

a plants growth response towater; plant grow:

) i towards the water

-
* internal

stimulus
- h xylem phioem

S

Flizabeth Muotales

MName the tissue that transports food

1f.-§ phototropism

A change framvathim an crgamism, such as hrung

and thirst, that causes the organism Lo.respon

Flant growth in response to hight




physiology structural
adaptation
the siwedy of how the physical structures of an
or garnism funcion
g ;i ] -
@ response
¥ p
variation
selective
breeding
-~ xylem
The man-made process of selectng a few
organisms with desired trags to serve as parents
of the next generaton,
i oh
LY

- stimulus

'\

Achangenan organismssurroundings that
causes the organismito react

A physical feature that helps an organism survive
init's environment

Any differerce between individuals of the same
species,

aylem

aylem phloem

Flirebieth Manabes

Name the tissue that transports water




Tropism Notes

A. What are we talking about?

1. Tropism - directional growth of a plant, or part of a plant, in response to an external

stimulus
a) Stimulus - an action or condition that causes a response
b) - an action or condition that is a reaction to a stimulus
1) Negative response - when the growth of a plant is away from the
stimulus

2) Positive response — when the growth of the plant is towards the

stimulus

B. Types of Tropism
I Hydrotropism

a) Stimulus -

b) Response - a plant’s roots grow

towards a water source

C) What type of response is this?

2. Gravitropism

a) Stimulus -

b) Response -
1) Negative - the

stalk/stem grows upwards,

against gravity

2) Positive - the roots grow

downwards, towards gravity

B. Phototropism

a) Stimulus -

1) Response - the plant grows

in the direction of a

unidirectional light (it only

comes from one direction)

2)What type of response is this?/,.T
({




Attach Cards here o
turn in!

Name

Per.

Stimulus/Response Trading Cards

Directions:
. . . , : Stimulus/Response
-Create a minimum of 8 trading cards using
the items listed on the right. - ; - .
Choose 4:  wilting fever vomiting swealing
- , turgor pressure  Fight or flight
~-Your cards may be handwritten or typed.
Pictures may be drawn or glued. Tropisms
-Your cards may be real or imaginary MUST do  phototropism geotropism
organisms, as long as they match the all4:  thigmotropism hydrotropism
definition.
: . % m " oK . sryefa ot ey 7 A
-Must mention if tropism example shows ) Bonuls. homeostasis heart rate
positive or negative tropism (T Cast)
-Turn in cards along with these instructions
Grading:
Points Points
Expectation . Comments
[ Available Earned
8 .CEH'aS B - 80[’)1‘:
Neatness 10pts
Color & Creativity 10pts.
Format:
Front Back
Definition:

[Hustration of
Example

Title @

Description of picture:
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Name: Date:

Stimulus and Response Worksheet
1. Define stimulus:

2. Define response:
3. Define external stimulus:
4. Define internal stimulus:

Label as Internal (I) or External (E) Stimulus:

5. Bright light in your eyes --
6. Hunger pains --
7. Strange person enters a dog's yard -

Label as Stimulus (S) OR Response (R):

8. Sharks swim toward the smell of blood. -
9. A person feels heat of a stove. -
10. A dog chases a rabbit. -

For the following, complete the missing part.

Stimulus Response

11. You hear a lunch bell. ---
12. A hawk sees a mouse on the ground. -
13. : - Tree leaves turn brown,

14, - A fish suddenly swims away.

15. - A deer turns and runs off in the opposite direction.

16. - A plant leans to the right.

O,

Period:



Study each picture below. Then decide what the stimulus and response is in each drawing. In addition, decide

if the stimulus is external or internal. W
=i ‘ Al —_
~(OY:
§ s \Q.; Q{ ’ 4 '- ‘T\
S /
g } J L,
17. v 4 ¢ 18. 19,
Stimulus: Stimulus: Stimulus:
Response: Response: Response:

Read the each passage below.

You are walking home from school one day when a large dog jumps out at you from behind a tree. He starts fo
growl and shows his teeth. You quickly turn around and walk in the opposite direction.

20. What was the stimulus in this situation?

21. What was the response in this situation?

22. Was_ the stimulus in this situation internal or external?

You are at the mall walking through the food court on your way fo buy a new CD. You smell fresh baked pizza
and realize that you skipped lunch. You buy a piece of pizza and eat it before going fo buy your CD.

23. What was the stimulus in this situation?

24. What was the response in this situation?

25 Was the stimulus in this situation internal or external?

Answer each question below.

26. Wha% is homeostasis?

27. How does homeostasis help your body?

28. Give an example of homeostasis in your body.

29. How is a thermostat like homeostasis?

30. What would happen to your body without homeostasis?
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‘Name Period Date

Plant Tropism

Website:  https://www.classzone.com/books/hs/ca/sc/bio_07/virtual_labs/virtuallabs.html

PROBLEM

You have a summer intemship in a batany
research lab at a university. The professor
you are working for studies plant responses
My S MR to various stimuli. including light, gravity,
and contact, In order to familiarize yoursell
with some basic types of plant regponses,

. . the professor asks you to parform several
cxperiments.

In this interactive lab, you will test for plant
reactions Lo light, gravity, and louch.

Voo e g = —— S

Y A D (S50 3 H s
B 4
L7 iy ¥ A SEATEMEER
o3 1L PRGCEDURE e e
= . 7.4

o=
x
W

Checklist

WETFILTE

YT CUTTON

FOLSEDHDEX SARES
SOV
NETAOSA FUANT

WAITRBUTTLE

‘Write a brief description of the items and equipment needed for the experiments.

Equipment Description

150 ml beaker with
potting sail

Radish seeds

Cardboard box

Aluminum foil caps

Corn seeds

@)



Petri Dish with cover

Wet filter paper

Folded index cards

Cover

Mimosa Plant

Water Bottle

Table 1: Plant Response Predictions

Describe how you think plant may respond to each of the stimuli listed.

Stimulus Response

Light

: Gravity

Touch

Table 2; Effects of light on Radish Seedlings

Complete Table 2 by entering the direction of growth for each radish shoot.

Seedling Growth in Light or Dark Direction of Shoot
1 Dark
2 Dark
3 Light
4 Light

‘Table 3: Effects of Gravity on Com Seedlings

Complete Table 3 by describing the growth of the roots and shoots for each of the four corn seeds.
Include a description of the growth.

Seedling | Direction of Pointed Tip | Growth of Roots Growth of Shoots
1 Down
2 Left .

1)




4 Right

Table 4: Effect of Touch on the Mimosa Leaf

Describe what happened when the mimosa leaf was touched.

Conclusion:

1. Conclude: Describe the 3 kinds of reactions to stimuli that you observed in this investigation.

2. Infer: Based on your observations, which part of the radish plants controls the plant’s

phototropism? Support your answer.

3. Analyze: How did gravity affect the growth of the germinating corn seeds?

4, Analyze: How can you tell that the corn plants were responding to gravity rather than light,

water, or the direction the seed was pointing?
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7.13.A

( 13) Organisms and environments. The student knows that a livfng organism must be able

to maintain balance in stable internal conditions in response to external and internal
stimuli. The student is expected to: (A) investigate how organisms respond to external
stimuli found in the environment such as phototropism and fight or flight;

STANDARD REVIEW

Behavior is one way in which an organism can respond to internal or environmental
factors. A behavioral response is a set of actions determined partly by heredity and partly
by experience. For instance, how a species moves, gets food, reproduces, or responds to
danger are all based on the species’ evolutionary history. A behavioral response requires
coordination and communication at many levels, from cells to organ systems to organisms.
An individual organism’s behavior can also change as it adapts to its environment. How
the organism is able to react determines how likely it is to survive and reproduce.

For example, if a person feels frightened, the adrenal glands release the hormone
epinephrine, which is sometimes called adrenaline. Epinephrine increases your heartbeat
and breathing rate. This response is called the “light-or-flight” response. When you are
frightened, angry, or excited, the “fi ght-or-flight” response prepares you to fight the danger
or to run from it.

Plants respond to stimuli as well. For example, they respond to light, gravity, and changing
seasons. What happens if you place a houseplant so that it gets light from only one
direction, such as from a window? The shoot tips probably bend toward the light. Bending
toward the light is a positive tropism. A change in the direction a plant grows that is
caused by light is called phototropism. Shoots bend because cells on one side of the shoot
grow longer than cells on the other side of the shoot.

Plant growth also changes in response to the direction of gravity. This change is called
gravitropism. A few days after a plant is placed on its side or turned upside down, the roots
and shoots change direction of growth. Most shoot tips have negative gravitropism. They
grow upward, away from the center of the Earth. In contrast, most root tips have positive
gravitropism. Roots grow downward, toward the center of the Earth. ‘

What would happen if a plant living in an area that has very cold winters flowered in
December? The plant’s flowers would likely freeze and die. So, the flowers would never
produce mature seeds. Plants living in regions with cold winters can detect the change in
seasons. How do plants do this? As fall and winter approach, the days get shorter, and
the nights get longer. The opposite happens when spring and summer approach. Plants
respond to the change in the length of day.

The difference between day length and night length is an important environmental
stimulus for many plants. This stimulus can cause plants to begin reproducing. For
example, some plants flower in fall or winter. At this time, night length is long. These
plants are called short-day plants. Other plants flower in spring or early summer, when
night length is short. These plants are called long-day plants.
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7.13.A

STANDARD PRACTICE .
1 If a houseplant is placed near a window, the shoot tips will bend toward the direction
of the light. What is this response called?

A periodism
B geotropism
C - negative tropism

D phototropism

2 Behavioral response
A requires communication and coordination at many levels.
B does not change as a result of environment.
C is not passed down through generations.

D has no influence on an organism’s survival.

3 What is the hormone that prepares your body for the “fight or flight” response?
A thyroxine = - .
B insulin
C epinephrine

D growth hormone

4 What is the name for a period of reduced activity that some animals experience
during the summer months?

A hibernation
B estivation
C seasonal behavior

D learned behavior

T
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7.13.B

(13) Organisms and environments. The student knows that a living organism must be able
to maintain balance in stable internal conditions in response to external and internal
stimuli. The student is expected to: (B) describe and relate responses in organisms that may
result from internal stimuli such as wilting in plants and fever or vomiting in animals that
allow them to maintain balance.

STANDARD REVIEW

Even though an organism’s outside environment may change, conditions inside an
organism’s body must stay the same. Many chemical reactions keep an organism alive.
These reactions can take place only when conditions are exactly right, so an organism
must maintain stable internal conditions to survive. The maintenance of a stable mternal
environment is called homeostasis.

Maintaining homeostasis is not easy. Your internal environment is always changing. Your
cells need nutrients and oxygen to survive. Your cells need wastes removed. If homeostasis
is disrupted, cells may not get the materials they need. So, cells may be damaged or may die.

One factor that your body keeps stable is temperature. Your body maintains a temperature
of about 37°C. When you get hot, your body responds by sweating. When you get cold,
your muscles twitch in an attempt to warm you up. This twitching is called shivering.
Whether you are sweating or shivering, your body is trying to return itself to normal.
Other animals also need to have stable internal conditions. But many cannot respond the
way you do. They have to control their body temperature by moving from one environment
to another. If they get too warm, they move to the shade. If they get too cool, they move
out into the sunlight. :

The body’s temperature can change in response to infection. A fever occurs when the
body’s temperature rises above 98.6°F (37°C) when measured orally. Fevers help the body
thwart invading pathogens. Vomiting is another way the body maintains homeostasis.
Vomiting occurs to rid the body of pathogens.

Plants also respond to changes. A vacuole is a vesicle. The large central vacuole in plant
cells stores water and other liquids. Large central vacuoles that are full of water help
support the cell. Some plants wilt when their large central vacuoles lose water.

Ak
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STANDARD PRACTICE
1 The cells of your body need energy to carry out life functions. Which of the following
body responses is a sign that your cells need more energy?

A Your breathing rate increases.
B You begin to shiver.

C You feel hungry.

D You feel thirsty.

2 What is the importance of homeostasis?
A It keeps the body stable.
B It keeps the body unstable.
C It makes the body shiver all of the time.
D It keeps the body cold.

vacuole

3 The diagram above shows a eukaryotic cell with a vacuole labeled. What is the
function of the vacuole in this cell?

A to give shape to the cell
B to store water and other materials
C to contain DNA

D to assemble proteins

© Houghton Mifflin Harcourt Publishing Company
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Time tested Blood-glucose level (mg/1,000 mL)
1:00 PM. 178
2:00 PM. 112
3:00 PM. 100
4:00 PM. 89
5:00 PM. 78
4 The table above shows the results of a series of hourly blood- ,
glucose tests. When the glucose level in the blood is high, such :
as after a meal, the pancreas releases the hormone insulin into ®©|0|0|® O]
the blood. Insulin then signals the liver to take in glucose from 0000 00
the blood. How much did blood-glucose levels decrease from g g g g g g
1:00 P.M. to 5:00 P.M, in mb/1,000 mL?

° » 1n.21b/1,000 m ool @@
®eBe| ®6
®e®e|e| ®®
QOO O
®O0|O ®©6
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